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cGTo ;Dddf 
jf;nft

1 >f]t -1.1 b]lv 1.4 ;Dd_ 3,967,785 3,523,789 2,646,132 
1.1 r'Qmf k"+hL 1,750,000 1,750,000 1,750,000 
1.2 hu]8f tyf sf]if  496,177 459,352 228,611 
1.3 hLjg aLdf sf]if 1,678,817 1,264,936 634,843 
1.4 dxf ljkQL hu]8f 42,791 49,501 32,678 
1.5 ltg{ af+sL bL3{sfnLg C0f tyf ;fk6L -   -   -   
2 pkof]u -2.1 b]lv 2.6 ;Dd_ 3,967,785 3,523,789 2,646,132 
2.1 l:y/ ;DklQ -v'b_ 71,487 71,086 74,477 
2.2 bL3{sfnLg nufgL tyf shf{ 3,508,258 3,458,357 2,139,395 
2.3 aLdfn]vsf] lwtf]df shf{ 114,369 82,449 34,227 
2.4 v'b rfn' ;DklQ -3-4_ 273,671 (88,103) 398,033 
2.5 ckn]vg jf ;dfof]hg x'g af+sL ljljw vr{ -   -   -   
2.6 gfkmf gf]S;fg lx;faaf6 ;f/]sf] gf]S;fg -   -   -   

v'b rfn' ;DklQsf] ljj/0f      
3 rfn' ;DklQ shf{ tyf k]ZsLx? -3.1 b]lv 3.3 ;Dd_ 837,651 407,289 839,102 
3.1  gub tyf a}+s df}Hbft 229,832 10,574 152,978 
3.2  cNksfnLg nufgL tyf shf{ 360,570 137,792 554,748 
3.3  cGo ;DklQ 247,249 258,923 131,376 
4 rfn' bfloTj tyf Joj:yfx? -4.1 b]lv 4.4 ;Dd_ 563,980 495,392 441,069 

4.1  rfn' bfloTj 207,048 162,234 134,350 
4.2  c;dfKt hf]lvd jfkt Joj:yf 274,563 265,125 257,379 
4.3  e'QmfgL x'g af+sL bfjL jfkt Joj:yf 14,203 1,505 805 
4.4  cGo Joj:yf 68,166 66,528 48,535 

gfkmf gf]S;fg lx;fa
1 cfDbfgL -1.1 b]lv 1.5 ;Dd_ 271,943 200,729 205,267 
1.1  cfo Joo lx;faaf6 ;f/]sf] 115,003 72,314 27,740 
1.2  hLjg aLdf sf]ifaf6 ;f/]sf] - - 11,937 
1.3  nufgL shf{ tyf cGoaf6 cfo 156,940 128,415 160,776 
1.4  Joj:yf lkmtf{ - - 4,814 
1.5  cGo cfDbfgL - - - 
2 Joj:yf tyf vr{x? -2.1 b]lv 2.8 ;Dd_ 71,225 56,806 51,661 
2.1  Joj:yfkg vr{ 46,662 28,011 34,594 
2.2  ckn]vg vr{ - - - 
2.3  cGo vr{x? - - - 
2.4  gf]S;fgLsf] nfuL Joj:yf 2,261 12,804 - 
2.5  sd{rf/L cfjf; Joj:yf - - - 
2.6  sd{rf/L af]g; Joj:yf 22,302 15,991 17,067 
2.7  ;dfof]lht cfos/ - - - 
2.8  hLjg aLdf sf]ifdf ;f/]sf] - - - 
  v'b gfkmf÷-gf]S;fg_ -1-2_ 200,718 143,923 153,606 

Plss[t cfo Joo lx;fa
1 cfo -1.1 b]lv 1.7 ;Dd_ 2,366,928 1,492,591  1,377,686 
1.1  aLdfz'Ns -v'b_ 1,925,746 1,163,522  1,125,464 
1.2  k'gaL{df sldzg cfo -   -    2,257 
1.3  nufgL, shf{ tyf cGoaf6 cfo 174,250 105,835  97,286 
1.4  aLdfn]vsf] lwtf]df shf{af6 cfo 7,123 4,362  541 
1.5  cGo k|ToIf cfo 1,625 1,468  563 
1.6 o; jif{sf] z'?sf] e'QmfgL x'g af+sL bfjL jfkt Joj:yf 805 805  1,047 
1.7 o; jif{sf] z'?sf] c;dfKt hf]]lvd jfkt Joj:yf  257,379 216,599  150,528 

2 Joo -2.1 b]lv 2.10 ;Dd_ 1,207,951 802,122  821,323 
2.1  bfjL e'QmfgL -v'b_ 110,298 47,828  37,087 
2.2  clestf{ sldzg 361,159 218,735  200,398 
2.3  :jf:Yo k/LIf0f z'Ns 8,515 5,195  3,051 
2.4  k'gaL{df sldzg vr{ -   -    -   
2.5  ;]jf z'Ns -v'b_ 19,257 11,635  11,255 
2.6  cGo k|ToIf vr{ -   -    -   
2.7  Joj:yfkg vr{ 419,956 252,099  311,348 
2.8  cfos/ -   -    -   
2.9 o; cjlwsf] cGTosf] e'QmfgL x'g af+sL bfjL jfkt Joj:yf 14,203 1,505  805 

2.10 o; cjlwsf] cGTosf] c;dfKt hf]lvd jfkt Joj:yf 274,563 265,125  257,379 
3 jrt -1-2_ 1,158,977 690,469  556,363 

3.1  hLjg aLdfsf]ifdf ;f/]sf]  1,043,974 618,155  528,623 
3.2  gfkmf gf]S;fg lx;fadf ;f/]sf]  115,003 72,314  27,740 

cGo ljj/0f
1  s'n aLdf z'Ns cfh{g /sd -xfn;Dd_ 3,535,399 2,752,345 1,567,034 
2  s'n aLdf z'Ns cfh{g /sd -o; jif{_ 1,968,365 1,185,311 1,165,161 
3  s'n sfod /x]sf] aLdfn]vsf] ;+Vof 124,682 118,462 100,690 
4  s'n hf/L aLdfn]vsf] ;+Vof 24,060 17,840 48,786 
5  3f]lift d'gfkmf -af]g;_ sf] b/ -k|lt xhf/_  35-70  35-70  35-70 
6  cGtl/d d'gfkmf -af]g;_ sf] b/ -k|lt xhf/_  35-70  35-70  35-70 
7  s'n bfjL e'QmfgL /sd 137,348 72,259 50,465 
8  s'n bfjL e'QmfgL ;+Vof 115 86 55 
9  e'QmfgL x'g af+sL bfjL /sd 24,903 1,968 700 
10  e'QmfgL x'g af+sL bfjL ;+Vof 37 9 2 


